
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Aritmetica degli esponenti interi

(−5) − (−7) = 5 − 9 =2

6 + (−7) = (−7) − (−10) =0

(−9) + 7 = (−3) − 10 =

(−1) + (−10) =2 (−8) + 2 =3

(−8) + 9 =0 (−8) + (−1) =2

(−9) + 5 =3 5 + (−8) =2

1 − (−3) =2 (−7) − (−2) =2

6 + (−10) = (−9) + 1 =3

2 + 9 =3 (−6) − (−8) =2

(−9) + (−6) = (−6) + 7 =3
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Aritmetica degli esponenti interi

(−5) − (−7) = 2 5 − 9 = 162

6 + (−7) = (−1) (−7) − (−10) = 110

(−9) + 7 = (−2) (−3) − 10 = (−13)

(−1) + (−10) = (−9)2 (−8) + 2 = (−510)3

(−8) + 9 = 100 (−8) + (−1) = 632

(−9) + 5 = (−724)3 5 + (−8) = 172

1 − (−3) = 42 (−7) − (−2) = 512

6 + (−10) = (−4) (−9) + 1 = (−728)3

2 + 9 = 173 (−6) − (−8) = 442

(−9) + (−6) = (−15) (−6) + 7 = (−209)3
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